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while. i > 0
do.
S= @G + G{y +¢
select. S
case. 0 do. T =.

case. 1 do. T =.

case. 2 do. T =

— O = O
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case. 3 do. T =.
end.
Z= T, Z
i=1-1
end.
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WD X HITFEITEINS,
13 add 7
X;001101 (=13 decimal)
Y:0001 11 (=7 decimal)

7: 1 0 (Carry & Result)

7: 1 0 _ (Carry & Result)

7: 11 _ _ (Carry & Result)
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Z: 10 _ (Carry & Result)

7:0 1 _ (Carry & Result)

Final Result:
Z=X+Y
Z:01 0100 (=20 decimal)



decimal calec. :

13 +7 =20
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NB. Binary Addition 2008/12/13
add =: 3 : 0
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wr

wr “step: , "t N -1

wre X, T ((D#D), GO, (N=D-i)#
wre TY 7 ((DaD), G, ((ND-i#

wre TCL, T (DD, ¢ ((N-D)-

S= (X + G{y +¢
select. S

D#_

decimal)’
decimal)’

we "7, (70 (G-D#D), ¢, T, (N-1)-1)#_ ), ’ (Carry & Result)’

case. 0 do. T= 0 [C= 0
case. 1 do. T= 1 [C 0
case. 2 do. T= 0 [C= 1
case. 3do. T= 1 [C= 1

end.

wr ’

yn =. rd 1

if. 1 = #yn do. return. end.

7Z7=T Z

i=1i-1

end.

wr ' Final Result:’
wr 7 =X+Y
ZA =. C, Z
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wr

“decimal calec.: ’, (":x.), =+, ("iy

)

left_shift =: 4 : " (#vyv.) {. x |. v.

mult =2 3 : 0

wr 22, (" ZA = C, 7), (=7, ("# 7A),

, x. #0O
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NB. Graphic Binary Add

NB. 2009
NB. revi
require
require

BINADD=:

/4/4

sed 4/8
12

" isigraph’

Z b_add T

end.




pc binadd;pn “Binary Addition”;
menupop “File”;

A A A N

menu new ~&New ;

menu open “&0pen” *” 7" "7

menusep

menu exit “&Exit” 77 7" 77,

menupopz ;

xywh 179 81 34 12;cc cancel button;cn “Exit”;
xywh 11 8 159 86;cc bindisplay isigraph;
xywh 178 50 34 11;cc Go button;

xywh 178 19 34 11;cc Start button;

xywh 178 34 34 11;cc Next button;

xywh 178 3 34 11;cc Enter button;

xywh 178 64 34 11;cc Clear button;

pas 6 6;pcenter;

rem form end;

)

run =: binadd_run
binadd_run=: 3 : 0

wd BINADD

NB. initialize form here
wd ~ pshow;’

)

binadd_close=: 3 : 0

wd’ pclose’

)

binadd_cancel_button=: 3 : 0
binadd_close’’

)

bin_dis =: 3 : 0

1T = x

B =:y.

XX =: (I + 100%i.8)
YY =: 8#]

(XX, .YY) bidis B

)

bidis =: 3 : 07(1 0)
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1T = x

C = y.
if. C =0 do. glrgb 192 128 128 end. NB. PINK
if. C =1 do. glrgb 255 0 0 end. NB. Red

if. C = _ do. glrgb 255 255 255 end. NB. White
glbrush >’

glellipse I, J, 50, 100

)

binadd_ok_button=: 3 : 0

glfont ’“FixedSys” 9 bold default’
NB. X:

gltextxy 20 900

gltext X!’

100 800 bin.dis _ _ _ 01001
NB. Y:

gltextxy 20 700
gltext 'Y’

100 600 bin_dis
NB. C:

gltextxy 20 500
gltext 'C:’

100 400 bin_dis _ _ _ 0000 1
gllines 20 300 900 300

NB. Z:

gltextxy 20 200

gltext “Z:’

100 100 bin_dis _ _ _ 0000 1
glshow '’

)

~01110

binadd_Start_button=: 3 : 0
glfont ~“FixedSys” 4 bold default’
gltextxy 20 997

gltext ’ Binary Dec’
glfont ’“FixedSys” 9 bold default’

“XA YA =: XYDA

NB. XA =. 6

NB. YA = 7

NB. N =: 8

N=:2+< 27, XA+ YA

xb =. #: XA

yb =. #: YA

NB. X:
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gltextxy 20 900
gltext ~ X’
gltextxy 900 900
gltext 7: XA

X=: (-N) {. xb

XXX =1 ((8-N)#), X
100 800 bin_dis XXX
NB. 100 800 bin_dis _ _ _ 01001
NB. Y:

gltextxy 20 700
gltext 'Y’
gltextxy 900 700
gltext 7: YA

Y= (-N) {. yb

YYY =1 ((8-N)#), Y
100 600 bin_dis YYY

glshow '’

NB. 100 600 bin.dis _ _ _ 01110

NB. wr 'X:", (“: X= (N) {L xb), " =, (":x.),
NB. wr 'Y, (Y= (N) { yb), (=7, ("iy.),
i=:N-1

cC=:0

NB. C=: (7)), C

7 ="

77 =: 8#_

CCO =: 8#_

)

binadd_Next button=: 3 : 0

XX = i{X

YY = i{y

glbrush glrgb 255 255 255

IC =. 780 - 100 * (N-(i+2))

NB. glrect IC, 180, 90, 740

glrect 0 0 1000 1000

glbrush glrgb 200 200 200 NB. Light Gray
IC = 780 — 100 * (N-(i+1))

glrect IC, 180, 90, 740

glbkmode 1

glfont ’“FixedSys” 4 bold default’

gltextxy 20 997

gltext ’ Binary Dec’
NB. gltext "i=, (": i), 7, X7, ("1 XX), 7, Y7,
gltextxy 900 900

gltext 7: XA
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gltextxy 900 700

gltext 7: YA

NB. X:

glfont ’“FixedSys” 9 bold default’

gltextxy 20 900

gltext X’

100 800 bin_dis XXX

NB. Y:

gltextxy 20 700

gltext 'Y’

100 600 bin_dis YYY

NB. C:

gltextxy 20 500

gltext 'CY’

cce =: (it), ¢, (N-D-i)#_

Co =: ((8-#ccoyt ), ccc

100 400 bin_dis CO

NB. Draw Line

gllines 20 360 980 360

NB. Final Result

if. i =0

do. gltextxy 20 300
gltext Result’
gltextxy 20 140
gltext ' Z:’
ZA =: C, Z
7R = ((8-#ZMH# ), 7A
100 50 bin_dis ZR
gltextxy 900 140
gltext (”: #. ZA)
end.
glshow ’’

)

binadd_Go_button=: 3 : 0

if. i = 0 do. return. end

XX = i{X

YY = i{Y

glfont ~“FixedSys” 4 bold default’
gltextxy 20 997

gltext ’ Binary Dec

bl

NB. gltext “i=", (“: i), ’, X7, (": XX), ’, Y:", (”:

gltextxy 900 900
gltext 7: XA
gltextxy 900 700
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gltext 7: YA

NB. X:

glfont ~“FixedSys” 9 bold default’
gltextxy 20 900

gltext ~X:’

NB. wr X

100 800 bin_dis XXX
NB. Y:

gltextxy 20 700

gltext 'Y’

NB. wr Y

100 600 bin_dis YYY
NB. Draw Line

gllines 20 360 980 360
NB. Calculation

S= (X + G{y) +¢C
select. S

case. 0 do. T= 0 [C=:0
case. 1 do. T= 1 [C=:0
case. 2 do. T= 0 [C=:1
case. 3 do. T= 1 [C=:1

end.

NB. C:

gltextxy 20 500

gltext 'C’

NB. wr C

cce = (i), ¢, ((N-1)-1)#_
Co =: ((8-#ccoyt ), ccc
100 400 bin_dis CO
NB. Z:
777 = (G-D#), ¢, T, ((N-1)-i)#_
70 = ((8-#CCO)#), 777
NB. gltextxy 20 120
NB. gltext "Z: ', (“: (G-D#), ¢, T, (N-1)-i)#)
NB. Z:
gltextxy 20 300
gltext “ 77
100 200 bin_dis Z0
Z=T Z
NB. Final Result
goto_Next.
if. 1 =2
do. gltextxy 20 140
gltext 'RY’
A =1 C, Z
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IR = ((8-H#ZMH#)), ZA
100 50 bin_dis ZR
gltextxy 900 140
gltext (”: #. ZA)

end.
label_Next.
i=r1i-1
glshow ’’

)

binadd_Enter_button=: 3 : 0

wd ' pc editbox;’

wd “xywh 8 11 50 8;cc sO static;cn “Enter X, Y?73’

wd " xywh 60 10 40 10;cc e0 edit ws_border;’

wd " setfocus e0;’

wd " pas 8 8;pcenter;pshow;wait;’

wd “pclose;’

DA = wd 'q;’

XYDA =: “., >((<e0”) =0{"(1) DA) # (i.#DA) { 1{"(1) DA
)

binadd _Clear_button=: 3 : 0
glclear ’’
glshow ’

)
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